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Aufgaben-Quickname: 5084

Aufgabe 1
Berechne.
) 7-9—7-6=63—42 =21
) 6-9—6-4=>54—24=30
)7 -446-6=28+36=064
g)8:-6—-6-3=48—-18 =30

13-347-9=9+63=712
Aufgabe 2

Berechne.

5 =40+35="T75
6=30+42="72
-4 =36+ 28 =064
-2=42+4+10 = 52
)5:-94+4-6=45+24 =069

Aufgabe 3

Arbeiltsblatt
) 8-5—2-7=40— 14 = 26
Q)7-3+6-3=21418=39
£)5-842-6=40+ 12 = 52
h)5-9—4-4=45—-16 =29
13-9-6-4=27—24=23
b)5-7+8-7=235+56=91
d)4-24+2-9=8+18=26
) 4-646-2=24+12=36
h)6-84+9-3=484+27T=75
)6-8+9-5=48+45=93

Berechne.

2)6-7T—3-7=42-21=21 1) 5-8—8-4=40-32=28

¢)8:-9—-2.-5=72—-10=062 d)8-9—-7-5=72—-35=37

e)8-7T—6-7T=56—-42=14 )7-3—3-6=21—-18=3

g)6-7—5-4=42—-20= 22 h)7-6—-6-3=42—-18=24

i)6-7—4-3=42—-12=30
Aufgabe 4

Berechne.

a)7-5—3-3=35—9=26
¢)3-44+8-7T=12+56 =68
e)9-7T—8-3=63—24=39

) 6-8—6-3=48 — 18 = 30
)9-6+6-4=>54+24="T8
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)4-5—-2-4=20-8=12

b)5-8—4-6=40—24 =16
)7-2+8-6=14+48 = 62
6-7—8-3=42—24=18
D) 8-8+3-7=064+21=285
)8-4+3-2=32+6=238
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Viel Erfolg!
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